NC FinCII QUiZ BOWI _ ) Naﬁne:

Malth 3 :

Directlons: The following questions are sample items similar to those found on the EOC Exam. Answer each to
the best of your ahility. Show all work on a separate sheet of paper.

Which expresston is oquivaltent to

1. Multiply: 187 « #1268 2. Se+6 2+ 22, 3, What aro the zeres of the polynemial
_ AMed-24 2 -Tx w12 : play = - 2% - B8y + 607
' . .
A 6xl¥Tx) A ;*E“g A |-1s,72,8)
: T
B ee{YEix) p 2+ B [-5,3,4]
. T
" 2f 3 ‘
¢ ext{¥42) ) ¢ {23 10}
ORI )
; : g 4)x~3)
b 6x*(¥58) D {1,230}
(v+4)x~3)
4. Whi‘;l @Xlzms:iml;x equivalent to S M By = v and gx) = Ba? + 1, 6. Which polynomial function has ns
b¥x+- L i‘%\:‘]:? what is f!(g(.‘t‘i)? zeros 3 and 4 + 87
’ A f = a1 + 41y - 51
A 3lx-1) A Gytal
. B ) =a" - 637 - Tx + 61
5 2= _ B 6 +2 _
’ ¢ ft) =&+ 0t - Ta -51
[ VIR | .
C .:.{-.:i.-l B o =a"+11a% + 41x + 51
Do12x* 42 '
|
Y 3D
7. Which equation i squivalont to 8 Which equation describes the eirvele 9 In 1950, a U9, population modsl
In7+9Inxy =5 49? with conter (5, "1} and radius 77 was y = 161 « (1.013)™"™ million
people, whore £ is the year, Whal did
a :
A 7' =1n2 A (-0 a(ye 1y =1 the model predict the U.8. popudalion
’ , int »
B a7y = In a2 ) , woull be in the year 2000Y
B (x-8) #{y+1) =40 A 247 million

Inidxy = n 10

bre 21 = b 10 ) : ¢ (x+ 5)'2 +(y - 1)“ “ B . 255 millien
C 269 million
D

2 o \F
B (w48 +(y-1) =48 288 million

The followiny lisl shows Lthe number
of people {in milllons} in the
United Btates whose only means

of gebting Lo work was walking, 1 - ..,I;,
_ Divide: T
10. Yeur Nu(mher 1. 12 Simplify: .
3] » ESRE
4.2 s . X
1940 18 (Gx ~118* - 47% 20) @(2:‘( + 1) y X
1950 1.0 ' .
1860 [ A 3o - 20
16570 |. 6.7
1580 5.4 B o+ -20 A Xz a0
1600 45 Xty
1f x = 0 for the year 1940, which C 3.\:‘3 -dx - 30
cquation i the hesi-fit Bnear moded !
i ; x+ -
o the data? D 8x ¢ 4x-20 . n ': - 1&_" " 1
A = ~16.5x 123

B y="006x+70
¥ = 0.08x + 10

D y=T48x-000



22,

A company that manufactures 14.

jeams estimates that the profit.
for selling = particular style is
given by the equation:

P 260" + 1,606 - 300, for 0 < <8

where P is profit in tons of
thousands of dollars and x is the
advertising expense in Leis of
thousands of dollavs. What does
an x-intercept mean in the context
of the pioblem?

A the munber of times the cotnpany
gpeat zevo dollars on adverlising

B the profit when the company
spont zero dollavs on advertising

¢ the advertising expense when tha
company had the most profit

D the advortising exponse whon the
company's profit wea zero dollars

Which ¢irele has the smallest avea? 17.

A xey'=12

B (x-2F+¥°=8

" Y 2

C  {x+1y +(y+3) =8

D (x48 +(y-9) =8

In the function f(x} = alx - 4Y, where 20

@ > 8, what happens to the graph of
[ as the value of o increnses?

A The graph narrows.

B The groph widens.

G ‘The graph shifts up.
1} ‘Phe graph shifts right.

The dimonsions of this rectangular
prism ave given algehraically.

w2

Whal is the approvimate width (w)
that will maxinize Ehe volume?

A 1unit
1.

B l§ unily

C 1% ks

D Zuuits

23.

Copper production increased at a rite
of abaut 4.9% per year between 1988
and 1988, 1n 1993, coppor

production was approximately

1,801 billion kitegrams. -If this trend
continued, which equation hest moeduly
the copper production (P}, in billions of
kilograms, since 19987

(Lot t = 0 for 1993.)

A P =1.801{4.900)
B P=1801(1490)
¢ P«1.801{1.049)

D P=1801{0.049)

Solve for & _:}ﬁZx +6]+2=0

c o v »

In which direction is the graph
of flal = %}- translated when

b increases?

loft
B right
¢ up
D down

A gingle mieroscopic organism divides

into Lwo organisms evory 3 days. Use
i

the formula N{) = Ny(2)%, whero ! is

the lime in days, N g the munber

of organisms at ¢ days.I and N, is

the nurber of m-gani‘sms ati=0,

Approxtmetely how long would it

take ohe organigm to producen

population of about 10,000 erganisms?

A 1,667 days

B Bl days

¢ 126 days

c

40 dlayn

21.

24.

The profit {2}, in ellars, for a
company is modeled by the function
P() = ~750x% + 16,000, where v iv
the number of iems produced. For
which values of x will the company
lose money?

A x<2
B Z2<x<10
C 10ga<B0

x> 20

What is the solution set of the systom
betow?

x=2y
¥ =0y

A {(o,0)
B {0, 4)}
¢ {(0,0),(1,0)}
D {{0,0).(8, 4)}

Which is the invorse of the function
flx)=x-97

A )=ty

o]

> Ya)=0-x

D f'l(x} = ,}}:‘5

When intervest is compounded n times
& year, the accurulated amount (A)
lter { years is given by the formula

L
A P(1 + L)
)

" where P is the initial prineipal and
¥ is the annual rate of interegt.
Approximeately how long will it
take $2,000 to double at an annual
intorest rate of 5.45% compounded
monthly?

A 13.98 years
1B 1371 years
C 13,23 yonrs
D 13.08 yomry



25,

28.

31.

34,

What are the vartical asymptotes of

2
the function f(x) = Zf}"‘mg)?q’

A r="

b
=23
-
[
e

B x="8u=4y=0

- ,_".. “'Q
¢ x= 3‘x~2

13 x:“‘fl,;\::—*-ﬂ-,x:%ﬁ

What is the approvimule value of Lhe
yreatest zevo of Flx) = 5"~ 0%~ x + 32

A 7075
B 2.84
c G.08
n 6.81

Alan has just started a job that pays a
sulary of $21,500. AL the end of each
yewr of work, he will get a 8% salary
incrense. What wilt bis salary be afier
getling bia fifth increase?

A $22,681
$24,880
$26,188
$27,440

If B tractors can plow a field in
4 hours, how many howrs will it tuke
3 tractors to plew the field?

A 6‘%
i} c%
¢ 52
n 535

26.

32

35.

Which ig tho sofulion sot of the

P 4
) X+Y= ?
aguation l. 2 Y

A {ead3)
B {3

sy

b [l

o

‘What ara the zeres of f(b] =yt 4 T+ 67

A {13%315.} c {’rig‘zn}
2

Which binomial is a factor of
(4"~ %+ 3x - 8)7

A x-8
B x+l
€ af-1
B oa*+3

The graph of f{x} = x* 4 3 is
translated to produce the graph
of gl = (x + 2)" + 3. In which
direction was the graph of f
translatod? .

up
B down
G lefl
Iy right

97, Which equation represents”

30.

33.

36.

the graph of ¥ = «* {ranslated
1 unit right and 2 uniie down?

A

bt}

9

o '(.17 - 1}! -2

y={x=-1)-2

L}

Y

y:(x+1]2—

—(."l‘- 4 1}2

+3

2

Soive: Sx-TYx+2=0
=1 =
A a= §rr= 4
B ox= 3]3—) x =i
C xe %1 x= -?1'}‘
2l =1
I x= pE=y
The area of a vectangulny window
is {4a* - 21x - 18). Both the length
and the width nre polynomials
with integer coofficlonts, Which of
tho lollowing could vepresent the
longth of the window?
A dx+8
B dx+3
G x+6
13 oa+d
Solve fora: Solo &
§ VAT T Harb)
A 7B
B 2
¢ Bl
n Boer2



37.

40,

43.

which function is egquivalent to ¥ = x% - §x + 10?7
46. ction i¢ eql ¥ 47.

A

mom

o

Simplify: 38,

(A

B af

&
=
)

If Flx)=2x +1 and g{x) = &% whatis 41

(3}
A 348
B 189
[ Go

D 34

What is un equation of the circle that 44,

hag center { "2, 3) aml passes through
(-1, 1)

A (e v (y-8V=b
B (x-2f+(y+8) =5
C [x+ (-8 =25

D (a2 +{y+8)° =20

p=(x+3P-1
p=(x-30+1
yo(x+6)Y-10
y=I(x-6)%+10

The pupulation of & small town in 39,

North Curoling fs 4,000, and it has

a growth roto of 3% por year. Which
expresgion cun be usod to caleulate the
fown’s population x years from now?

A 8(4,000)

B 4,000(1.03)

C 40005

D 4,0004°

In which direction does the graph 42,

of y={x+ 2)'§ +¢ shift as ¢ decrensos?

A

oo

D

45,

Where is the vertex of y = |x + 2]? 48,
A on the negative x-axis

B8 on the posltive x-axis A

C  on the negative y-axis B

D on the positive y-axis = ¢

D

right
loft
up

down

What iz the domain of
[l ="2:%+ 2% 4 17

A thesed of bl venl numbers

B {f8«<x« 2}

o]

{sf2<x <3}

D theemply set

Let x and y bo real numbers, If
(% + yi) = (2 =~ 3i) =6 + 4i, what are
the values of x and ¥?

A x=8y=17
B x=8»=1
¢ x="4,y=17

I} x="4,y=1

Vhich is the inverse of f{x} = 1.5" + 4?
- _X-4

A ) - S

B £ - toelad

log{x - 4}
log(1.5}

Lal

£ =

What is the domain of f(x} = J‘x +27

{x:ixe -2}
{x:x%2})
{x:2<x<2}

{x:0<x<2)

oy




49,

51,

55.

57.

99,

i

What translations should be applied to the graph: of ¥

54?;«
¥

Y=x-5" 3

A a shilt 5 units to the right, and than a shift:

B @ shift 5 units to the rightgt;a"hd‘ L

c Fandthen b siift 3 units up
D

A 3and
B 1andg
C 7 and
D 2 and

. 13
The height, A (in feet), of a ball I seconds afver it, lg‘thi;QXgn 5}i§wﬂrtl fs given by the

equation h = "16¢7 + 60¢ + 5. What dogs the ¢ m
represent? §

arm' 5 in the equation

A time required for the bail to hit the g

i

time required for the ball o redchithe I‘ﬂgﬁ?{st poink

8
C helght after 5 seconds
>

helght when first thrown

Simplify: %ﬁ%
A2
5.4+ 23
C  11-643
D C114+643

Which equation Is equivalent to 3 logx + 1092 = log3x - log 27
A log x*+ 2 = log{3x ~ 2}

B log{3x + 2} = log(3x - 2)

c log 6x = log (—%f‘-)

D log(2xY) =log (3—2&)

s s
The pressure, P, measured in pounds per square Inch {psl), on an object under
waler varies directly \With its depth; o, nmieasured In feet. 1f the pressure on an

ohject at a depth

of 25 feet?
6,88 psi
B 9.85psl
[ 10.75 psi
o 13.60 psi

it produce the graph of

0 elet’is 5.6 psi, what is the pressure on an object at a depth

50.

© 92,

54.

56.

58.

In which dtrection-dd

L= o

&0.

An airplane travels 1,400 miles i the same amount of time It takes a car o travel
210 mitas. The car travals at a speed of 340 mph less than the airplane. What is
the speed of the airplana?

A 390 mph

B 400 mph
C 405 mph
)

410 mph

Which sentence

scPingE the transformation of the graph of f{x) = 2x” 1o the

A The graph hdcomes wider.

B The graph becomes narrower.
[ The graph shifts down.,

o] The gragls shifts up.

If F(x) = $x - 9, what ls £7(~3)?

A “13
B “9.5

c ~7

D 4.5

x
Simplify: (_3_*37@_

27

A5

B 9+18/ 4(

C 18427 '
36 + 27/

O 7

E'langr’aph of y = Jx + a shift as the value of 7 decreases?

upward
downward
to the right

to the left

= 2% X3
What are the vertical asymptotes of v = vt

A X = "1, x

o]

il

Bt



61,

63,

65.

67,

69,

‘The iangll: of a rectangular prism is 43 units. The height is 3J6 units, 1Fthe

volume is irratienal, which could be the measure of the width of the rectangular

prism? .
A 250

8 4z

C 58

o g

x+7 .
Ay -1 xt
restricted so that the expressions are defined?

Which expression is equivalent to

X+3
A x-3

X -3
8 X+ 3

i

“1

What ia the apﬁ?‘qg{huﬂie value of the sum: -
iy Zod
-2, 8 )
8 7‘.1“9 ...+8'( ] ?

(Note; The sum of a series can be calculated using the formula 5, =
wherer # 1) N

A 1
B 7
c 8
] 9

The volumae of a rectanguiar prism is represented by tha exprassion

LY~ 2x% - 20x - 24). H the fangth is {x - 6} and the height and width are equal,

what is the width of the prism?

A X+ 2
8 X-2
< Xx+4d
D x-4

The {able below shows the awinber of familtes Lliving in the eity of Sunnyvate from 1965 to
2000,

Yoar (wlor 1950) G¢ | 70 | 75 | 80 | 85| 90 | 06 | i0Q

Numbor of Fumilics

(thouweands) ALA 308

80.1) 28.71 271 26.7| 20.2( 20.3

Accarding o to best-Iit quadsalle model. epproxfimalely how many fnmilies will dive in
Bunayvale in 20007

A 18,000
6 16,000
¢ 18,000
I 19,000

William put the tip of his peacit on the outer edoe of a graph of the wnit circle at

the peint (0, “1). He moved his pencil tip through an angle of % radiang in the
countarclockwise direction along the edge of the circle. Ak what angle of the unit

circle did William's pencif tip stop?

-
o ¥
°o

when x is
5

3,1 - r°}
T

ih

&2 what is the appro;i"lmate length of the arc subtended by an angle of i35- radiang

an a circle with a radius of .00 meters?

A

8
C
D

64,

66.

48,

70.

72,

12.57 matarz
14,14 meters
25.13 meters

28.27 melers

sin{&r) . cos ()
Whith axprassion is equivalent ko ES—TW (7] _sinfe] ?

A 1
o5}
8 sin{t)
o cos{#)
1
sin(#}

Which expression is gquivalant to (4 - 3)* + & + ¥¥?

A 30
B 42 - 12}
C 50
D 62 - 12]

What vatua of & is needed to complete the seitar a;i‘ tha equation

¥ e 10x ~ 8 = {x - h)* - 337

A T25

B ]
5

D 25

A shipping compaay s designing boxes to meet specific requiremerits,

+ Each box must be a completely closed rectangula prism with no
averlapping material.

. The boxes must held 24 eans in two layers of 12 cans each.
, The cans ase 3 inches in diameter and 5 inches in height.

What is the snrallest amoust of cardbeard needed to nreet the specificaticns?
A 1080002
240 in?
636 in.*

L= e T -]

540 in.?

Which chaice shows tha solutions to the equation 8x7 + 3x = "77
A J3:if315

i6
8 3t 215

16

T3t 233
¢ 16

3 £ 4233
e 16




73. Which choice shows a pair of similar figures?

O

=

75 A student wants te detarmine the nms‘ Ilked professor at her collaga. Which type
’ H

[~ S N ]

77. A system of equations is shown below,

¥ =¥z

79. In the figure below, PR and 5B are tangent to circle O.

R

81. Whichis an equation of 3 pa!absia thatlh
&1

A y-%(uz)uzlf

0 y=fx-2P-

-d--

“directrix of y = "3 and a focus at

80.

82, whatis the approximite

74,

Samantha invested 510,000 in each of two different financial plans in 2013, The
predicted vatua of each plan is modsaied helfow, .

. Plan M: a rate of 7.5%, compounded confinuously.

. Flan N: The valua is deterrsined by the function
y = 5x® - 50x% + 4x + 10,000, whete x is the number
of years after 2013.

Plan ¥ has a greater predicted valua than Plan M during which yaars?
A from 2014 to 204%
from 2028 to 2055 '
fram 2042 to 2073

L= B S T -]

Plan N naver has a greater value than P

74, The ¢raph of the function F(x) = x* will be shifted down 2 units and to tha right

3 wnits, Which is the function that corresponds to tha resulting graph?
A gix) = (x + 3P + 2

8 g(x) = {x + 3P -

C glx) »{x -3+ 2
o

o(x) = {x - 3)* -

78.

A town has 685 households. The numbe of peopla per household is normally
distributed with a mean, g, of 3,6? and d:standard daviation, o, of 0.34.
Approaximately how many house Ids have between 2,99 and 4.01 people?

A 493 hausehelds ;
520 househoids,
558 householgs
578 housé quds

oon oW

Triangles LMA and OPQ are shown below.

. [
12"
<550 10
N
What additional information is sufficiant to;show tha
and mapped poto AGPQ? %
A Q=6
B MN =9
C «LMN s Q0P
D £NLM = £QOP,

i to the equation 347! = 4%

A 3.875
8 1.262
C ~3.354
D ~4.797



83.

85,

87.

89.

?1.

what is the valua of x in the triangle below?

GO®

A %E <t

B 5B
10 ¢m
D 15 am

& farmer wants to buy between 9 and 100 aces of tand. 8é.

. Ha is interested in a rectangular piece 'of land that is 1,500 yards leng

and 300 yards wide,

‘. The piece of land is being sold as ehe comgplete unit for $87,008.
i the fagmer does nat want te spend more than $900 an acre, does the Jand mast
alf af his requirements? {1 acre = 43,560 (4 }
A Yas, the amount of {and satisfies his needs, and the price is low enough.
a No, the price is low enbugh, but thers i teo mygl A ran,
c Ha, the prica is low enoizgh, but there is ny “Br 1
3] Ne, the amount of land satisfies what he neg {3].'& fhe price is tea high.

. & s
which expression is equivalent te _q[‘;_:(_rgl_—_ca__;_(_q)' ore sint{e) = cos(e}?
sige{) - cos*(8)} i i 88,

A siit{o) - cos’(p)

B €05%(9) - sin’(4)

9]

2
i

Which function goes to positive oo maost quickly as x increasas?

A ¥ = logix) + 100

B8 y=g"%-3
C y=x*+5x+6
b y=3%saxt-1ix-96

Supposa px} = - 2x7 + 13x + k. The remainder o
{x + 1} i5 ~8, what is the remainder of the divisigi of p(x) by {x - 1}?

A -8
8 8

C 16
] 20

20.

A function is shown befow

A principal wants to survey 150 students Yo determing which efectives to offer
during the next school year, There ares 1,800 students in the school, Which
procedure could tise principal use to select 3 sampls using a systematic /andom
sample?

A Obtain a list of alt students, Start with the sighth student, and select avery
twelftly student until 150 students have been selected.

Select the first 150 students who entet the school,
[ hoose the fifth stadent te come inkto the cafeteria, and than selact evary

third student whe comes into the cafeteria until 150:giudents have been
selacted.

D Place students’ namas on slips of paper al

To completely covar a bpher at b ball a bali company uses 3 tatal area of 36 square
inches of matarial, What j& the aaximum volume tha ball can lave?

nhera = 4ar? Yolume of a sphere = 31:! iy

A 27 cubic Ifit?‘les

B 3Gyn cubicinches
36

< T cubic inches

D 27 cibic inches

which expression is squivalent to (x + 3 - 9x{x + 3)7 "
A x* 4 27

B - 27

C - Ox* - 27x + 27

o] Poox?y 27x + 27

A reporter wants o know the peftemane qf ¥ erg in the state who support




93.

95,

97,

99.

101

A box with ap open top will ba constructed from 2 ractangular piace of cardboard,

. The piece of cardboard is 8 inches wida and 12 inches fong,
v The box will be censtructed by <utting out egqual squaras of side x at
aach corner and then folding wp the sides.

What is the antire domain for the function Vix} that gives the volume of tha box as
a function of x?

A D<x<d
8 d<x<b
[ 9<x<8
[+ Q=x<12

B:gentimeters, A central angle of the circle intarcepts an
fhat ig'the radian maasure of tha angle?

The diametar of a circ
are of 12 centimster

A3
B 2
C 4
2] ;14

g A

Let Ax} = 14x” + 28x — 46x and glx} = 2% + ich is the solution set to the

sguation %z-fix) = glx)?

A {304
g {3,710
¢ {213
D {1,511}

A right triangle is shown below.

yow 2

&

which sxpression would resuit! Firrgional number?

A

Qvar a 10-year pericd, two colleges raised their per-course tuitions (T, and T, )
each year. The tuitions can be modeled by the following eguatlons:

College 1: T, = 500{i.048)*

College 2: T, = 446(1.068)*

[n these equations, the tultions are in doilars, and x reprasents elapsed ting in
yaars {x = 0 Is the beginning of the 10-year periad), Based on the model, at
approximately what lime during the 10-year petiod ware the two-tuitions equal?

A X = 5yeprs

B X = 6 years
C x = 7 years
3] x = 8 yenrs

The eguation 2 i
the value of g?

A

26,

98.

100

102

= *12 is rewriteen in the forns of 2(x - p)? + ¢ = 0. What is

o
i

]

)

ald

=[5

25

1n a set of best scores that are noremally distributed,  test score of 76 is
3 standard deviations below the rean. A score of 34 is 1 standard deviation
above the mean. What is the mean of the data?

A 79
B g1
c o4
o B3

What is the solution to the aguation 2—;-:—2

oy
Boou
c 4
0

Fred drives an averaga of 15,000 miles per year, and his car gets 20 miles per
gatlon of gasoline.
. The average cost of gasoiine is $3.25 per gallon,
[ He buys 3 new car,
. In his new car, Fred continues te average §5,000 niles per yedr, and
the avérage cest of gasoline remains the same.

Approximately how many more miles per gallon does the new car gat if Fred has
a savings of $630 per year an gascline?

A 3.8 mpo
B 7.3 mog
C 8.8 mpg
D 10.3 mpg

1) ahd passes through

Which equatlon describes o parabola that has vedex(‘(’?
point (0, 4)7 4

A y:%(x-i 31l

B e 3x 3 el

0
~
it

Liw - 3V
br-3 a1

3] ye3x-3 1




103.

105.

The table below shews the average walghts for men 20-24 years of age.

I x represents height, and y represents
these data? ’ :

A

L=EN e I

Helght | Waight
(i inches) [(in pounds]

62 130
64 138
66 148
68 i86
70 167
22

74
76

y=5.01x-181

27 cm
24 om

10 cm

iQem

107 A clty buit an archway that can ﬁgfmSGEIed by the parabola y = “x* 1 8x s 20.
What are the coordingtés of‘Its veftex?

B

(-4, 36)
{2, 10):
{4, 36)
(2, 10}

109 The graph of y = ax? Is shifted up 3 unlts and right 5 units. Which gquation
represents the resulting graph?

A

B
C
43

1.

What are the horlzontal and vertical asymptotes of £{x) =

A
B
C
D

y=a(x -5 +1
y=a{x +5%+3
y=alx~3P +5
yealx+ ¥+ 5

T X'+ 3x -4

x=landy="1

X

f

4,y =i, andy =1
x=tiandy =0

xed,x=1andy=1

wdght, which linear equation best models

e+l

In the figure balow, tha targer circle has a radius of 6 om, and the emaller circla
104.  has a radius of 2 em.

106.

e table betow represents the size, in acres, of the averaga farm.

Year 1950 | 1660 | 1970 | 1980 | £997 | 1998

Slza of Farm -
(acres) 213 | 297 34 426 | 436 | 435

. Choose which mathematical medel below best fits the data,

. Using the smodel, predict the approxfiinate size of the average farm in
the year 2010.

A linear; 650 acres

B lingar; 510 acres

< quadratic; 400 acras

1 quadratic; 360 acres
108.

Zach purchased a stock. The value of the stock has been falling and #ising as
described by the polynomial function ¥(x) = Bt - 90x + 350, where x is the
number of weeks since the stock was purchased, What ¢oes the y-intercept of lhis
function represent?

A the rumber of wieeks since the stock was purchased
the value of the stock at its maximum

-}
< e vufae of the stock whea it was Initiatly parchased
D

the week at which the vslue was at lls maximures

110.
Approxhnatelyyh

al 1§ the smaliest real zero of fx) = x* - 5% + 2x + 67

A 48 v
B 168
C  -0.86
D 046
112
Where does the minlmum value of the functlon y = kx - 5| - 4 ocour?
A aty="h
B aty =4
C atx=0
o] atx=5



